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(VISCOSITY)

R E
(VELOCITY)
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cm m Km in ft R
1 0.01 0.041 0.3937 0.0328 0.033
100 1 0.001 39.371 3.2809 33
100,000 1,000 1 39,371 3,280.9 3,300
254 0.02540 0.04254 1 0.08333 0.08382
30.48 0.0348 0.0:3048 12 1 1.0058
30.30 0.30303 003030 11.9303 0.9942 1
cm’ m’ in® ft’ R
1 0.0s1 0.1550 0.001076 0.001089
1X10° 1 1,550.1 10.7643 10.89
6.4514 0.036451 1 0.006944 0.007026
929 0.0929 144 1 10117
918.27 0.09183 142.34 0.9885 1
dm’Zgl 0 m°BEI3ko ft’ Hgal Kaal a R
1 0.001 0.03532 0.220 0.2642 0.025544 0.03594
1,000 1 35317 219.95 264.19 55435 35.937
28.315 0.02832 1 6.2279 7.4806 0.1570 1.0175
45465 0.024547 0.1606 1 1201 0.02520 0.1633
3.7852 0023785 0.1337 0.8325 1 0.02098 0.1360
180.39 0.18039 6.3707 39.676 47.656 1 6.4827
27.826 0.02783 0.9827 6.1203 7.3514 0.15425 1
g kg t(tonne) ({A) Ib ton () ton(CK) g i
1 0.001 0.051 0.002205 0.06984 0.051102 0.052667 0.001667
1,000 1 0.001 2.2046 0.0:984 0.021102 0.2667 1.6667
1X10° 1,000 1 2,204.6 0.9842 1.1023 266.67 1,666.7
4536 0.4536 0034536 1 0.0s446 0.0s51 0.121 0.760
1,016,047 1,016.05 1.01605 2,240 112 270.94 1,693.4
907,185 907.185 0.90719 2,000 0.89286 1 241.91 1,519.8
3,750 375 0.00375 8.2673 0.023691 0.024134 1 6.25
600 06 0.036 1.3228 0035905 0.0:6613 0.16 1
P‘zgé;%éc{g)' s centipoise.cP kg/m-s kg/m-h Ibfft-s
1 100 0.1 360 0.0672
0.01 1 0.001 36 0.000672
10 1,000 1 3,600 0672
0.00278 0.278 0.0:278 1 0.000187
14.88 1,488 1.488 5,356.8 1
m/s m/h km/h ft/s ft/min mile/h
1 3,600 36 3.281 196.85 22370
0.0:2778 1 0.001 0.0:9114 0.05468 0.0:6214
0.2778 1,000 1 09114 54.682 0.6214
0.3048 1,097.25 1.0973 1 60 0.68182
0.025080 18.287 0.01829 0.01667 1 0.01136
0.4470 1,609.31 1.6093 1.4667 88 1
0/s 0 /min m*/min m’/h m’/s Fgal/min *Kgal/min
1 60 0.06 36 0.001 13.197 15.8514
0.01667 1 0.001 0.06 0.041667 0.2200 0.2642
16.67 1,000 1 60 0.01667 219.95 264.19
02778 16.67 0.01667 1 0.0:2778 3.6658 4.4032
1,000 60,000 60 3,600 1 13,197 15,851.4
0.07578 4546 0.024546 0.2728 0.047578 1 1.2011
0.06309 3.785 0.0:3785 0.2271 0.0:6309 0.8325 1
.2
- ;“ZL:IPSI Pa kPa MPa kgf/cm® bar atm i;lr;;tHT%rr mmHz20
1 6,894.8 6.8948 0.026895 0.07031 0.068678 0.06804 51.714 702.99
0.0514504 1 0.021 0.0s1 0.0410197 0.041 0.0:9869 0.027501 0.10197
0.14504 1,000 1 0.001 0.010197 0.01 0.029869 7501 101.97
145.03 1,000,000 1,000 1 10.1970 10.000 9.8690 7,501 101,970
14.223 98,068 98.068 0.098068 1 0.98068 0.96783 735.61 10,000
14,561 100,000 100 0.10000 1.01970 1 0.98690 750.10 10,197
14.697 101,330 101.33 0.10133 1.0332 1.0133 1 760.06 10,332
0.019337 133.32 0.13332 0.0513332 0.0213594 0.0213332 0.0213157 1 13.594
0.0214225 9.8068 0.0298068 |  0.0s98068 0.0s1 0.049869 0.0:96783 0.073561 1
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It | Pa MPaZ fc[EN/mm’ kg/mm’ kgflcm®
(STRESS) 1 0.000001 0.06101972 0.04101972
1,000,000 1 0.101972 10.1972
9,806,650 9.80665 1 100
98,065.5 0.0980665 0.01 1
A N dyn kof Ibf
(POWER) 1 100,000 0.101972 022480894
0.00001 1 0.05101972 0.0522480894
9.80665 980,655 1 2.2046226
4.4482216 444,822.16 0.45359237 1
t=-IXRILF J kw-h kgf-m keal
—HE 1 0.06277778 0.101972 0.000238889
(WORK ENERGY 3,600,000 1 367,098 860
9.80665 0.05272407 1 0.00234270
CALORIE) 4,186.05 0.00116279 426.858 1
e E BRECEEREFIC EREFEBRECIC
(TEMPERATURE) 9/5xC+32° 5/9% (‘F-32°)
WSIE{ & ERDEE( & DL
- Qs | SEHEHA | GEREMENTUC | SEBICTBIHO 5 =
LT RUEfiT =Ty B i
iz = =] rad (5972) -
(E) 1.74533X 10 °rad 1°=(17/180) rad
(%) 2.90888x 10 'rad 1'=(1/60)°
@) 4.84814%10"°rad 1'=(1-60)"
= = kg (FOISL) -
t(h) 1x10°kg
= B | km’ -
kgl 0 1X10°kg/m’
tm’ 1x10°kg/m’
71 N(Za—h>) Z
dyn (F1>) 1X10°N
kgf (EBFOISL) 9.80665N
= b2 Pa (JARAIL) -
bar (J\—JL) 1Xx10°Pa TADEHICAVLS
mmAg,mmH20 9.80665Pa
mAg,mH20 9.80665 % 10°Pa
kgfiem® 9.80665% 10°Pa
mmHg 1.3322X10°Pa
atm (TFE) 1.0135X10°Pa
Lic] E | Pas -
P (KTX) 1x10'Pa-$
B ¥ B | ms -
St(Zh—22R) 1x10°m*/s
I % ) F | @i -
{nn = HEEDEATRYITHOU—
5 = keal (FOAHOYU—) 4.18605kJ (International Steam Table)
=5 V2| = kgf-m 9.80665J [C&RNUE, 1kalir=4.18680kJ
kW-h 3.6MJ
=1 i=4 K(TiLEY) HIFER
TEIVYDRE) BILVIRE
TIK]=273.15+[C]
m B B B | K LIFllEdegeRLTLVE
C
t o[ J(kg-K) _
krvroOE keallkg-C 4.18605kJ/ (kg-k)
LIV ILE | uKe _
uet & =8 keal/kg 4.18605kJ/kg
it Va| Pa kgf/m’ 9.80665Pa
N/m’
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